

PAGE	CUST NO	INVOICE DATE						
1 of 1	1005952	03/25/2014						
INVOICE NUMBER								
1718 - 91446418								

Pratt

(620) 672-1201

B CARRIE EXPLORATION & DEVELOPMENT LLC

I 210 W 22ND ST

L HAYS

KS US

67601

o ATTN:

HEROLD

LEASE NAME LOCATION

Cemetary C-2

COUNTY STATE

В

T

KS

Rice

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40705063	20920				Net - 30 days	04/24/2014
	<u> </u>		QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service Dates	s: 03/22/2 <mark>014 to 0</mark> 3	2/22/2014				
		\mathfrak{D}				
)40705063		(122/2014 (144) - 2 e				
171810358A Ceme	ent-New Well Casing/Pi 0					
Cement PTA						
60/40 POZ			191.00	EA	9.12	1,741.6
elloflake			48.00		2.81	
Cement Gel			330.00		0.19	
Unit Mileage Chg (leavy Equipment M	PU, cars one way)"		70.00 140.00		3.23 5.32	
	el. Chgs., per ton mil		578.00		1.67	Ī.
Depth Charge; 300			1.00		1,641.37	
Blending & Mixing S			191.00		1.06	
Service Supervisor	r, first 8 hrs on loc.		1.00	EA	132.98	132
	يرنو ماس	H				
	pd# 448	3-31-14				
	Y					
	,					
						<u>.</u>
						-

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903

801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL TAX 5,853.90 138.66

DALLAS, TX 75284-1903

INVOICE TOTAL

5,992.56



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1718 10355 A

	DATE TICKET NO
DATE OF JOB 03-17-10 DISTRICT PRACTE AL	NEW ✓ OLD PROD INJ WDW CUSTOMER ORDER NO.:
CUSTOMER (1247) & Co Ploan	LEASE CONICTARY CZ WELL NO.
ADDRESS	COUNTY RICE STATE K
CITY STATE	SERVICE CREW Sulfisher GLANDE CARRY
AUTHORIZED BY	JOB TYPE: CNW P.T.A
	JIPMENT# HRS TRUCK CALLED DATE AM TIME
53708- 33570 /	ARRIVED AT JOB
7940 - 2161.	START OPERATION AM
2///	FINISH OPERATION AM PM
	RELEASED AM PM
	MILES FROM STATION TO WELL 70
ITEM/PRICE MATERIAL, EQUIPMENT AND SERVICES US CP 10.3 14 199 1 25 27	(WELL OWNER, OPERATOR, CONTRACTOR OR AGENTED) UNIT QUANTITY UNIT PRICE \$ AMOUNT SK 191
CC 200 1 1 400	1h 330
CC 102 11/1/ 1/24	16 48 - 122 45
e 100 11 10	ni 70 291 ii
E 101 Hary 1, 1	m 140 98, 0
CF 234 Malle Color	Tm 578 2 15
CE ST TO THE WAR TO THE	54 1 191 36 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
5 CO	58 / 1/2 1/25 N
CHEMICAL / ACID DATA:	SUB TOTAL
SE	RVICE & EQUIPMENT %TAX ON \$
MA	TERIALS %TAX ON \$
	MANKS TOTAL
SERVICE // THE ABOVE MATE	NALAND SERVICE

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

REPRESENTATIVE / Con 1 FIELD SERVICE ORDER NO.

CLOUD LITHO - Abilene, TX

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



energy services, L.P.
Customer

TREATMENT REPORT

Lease	4. 1.7 5	٤.	1.00	Man) ſ	ease No).							-/ \	INI	REPORT	
Lease Field Order	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		_		V	Vell #						Date					
103	Statio	n Z	أوسع أأرا	/			2	Cas	ina				03 - '2				
Type Job € ∧	h) '	7/4						Vas	ilig <u>∠∂</u> /	Dep		Count	V Ries	6 27		tate	
	E DATA									Formation	on	L	Lega	Descriptio		tate AG	
Casing Size				PERFORATING DATA				FLU	JID (JSED		Legal Description TREATMENT RESUME					
Depth	Tubing Si	ze :	Shots/F	t				Acid				RATE	PRESS		ME 		
Volume	Depth	!	From		То		Pro	e Pad			Max		THESS	ISIP			
	Volume	·	From		То		Pa	d			Min			5 Min.			
Max Press	Max Pres	s F	From		То		Fra	ac			Avg			10 Mir			
Well Connection	on Annulus \	/ol.	From		То		+				HHP Used			15 Mir			
Plug Depth	Packer De	enth	-rom		To		Flu	ısh			Gas Volum				us Press	ure	
Customer Rep	presentative		10111		10	Station	n Mar	ager			das voidii		otor C	Total L			
Service Units	5120		; : : y /	1 0		<u> </u>				lux Se	7#	irea	ter 126- +	hill			
Driver	. /			<u>90</u> ند	20	17:00	<u> </u>	7101	<u>ر</u>		<u> </u>	<u> </u>		·			
Names	Casing		{ -∤ bing			<u> </u>	115	<u> </u>									
Time	Pressure	Pres	ssure	Bbls	. Pum	ped		Rate					Service Log				
3.00	 ,	-			-					0,3 b	· Soj+		wity	·			
											/	/ 					
										Lot P	Plus 32	206	W/ 35 51	<u> </u>			
4.00					1,6			3.		S. M. M.							
					2					C. 11							
415					45					900	420	mo	47				
										Set Ph	1250	o ha J					
550					Κ'					Strice							
					7												
540					1.					ر آر را	0/12/3		,				
										- A Pl	14 900	ندن ا	/				
550					مر					June 1	/	7					
					7					c = 7							
(6.15					7					Or. On	nuis						
<u></u>										5d 1	9/4 30	70	4/25				
6.15										Chica	/		7				
622					9					0,41							
					/					Mar n	1012	,					
9.00					6			200		7777	1 300k	-sk	i €	V.01		<u> </u>	
· -	· · · · · · · ·				7					PH	/ 20ck	213	K17	- CHI	<u>(15. j. 19</u>		
7/2		<u> </u>								7	<u> </u>	, ,	14 -		<i>i</i> ,		



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax: (817)

(817) 246-3361

Bill To:

Carrie Exploration & Development LLC

210 West 22nd Street Hays, KS 67601



Invoice Number: 141925

Invoice Date: Mar 15, 2014

Page: 1

Customer ID	Field Ticket#	Paymen	i Terms
Carrie	62858	Net 30	
Job Location	Camp Location	Service Date	Due Date
KS2-01	Great Bend	Mar 15, 2014	4/14/14

Quantity	Item III.		Description	Unit Price	Amount
1.00	WELL NAME	Cemetary C #2	The state of the s		X .
150.00	CEMENT MATERIALS	Class A Common		17.90	2,685.00
3.00	CEMENT MATERIALS	Gel		23.40	70.20
423.00	CEMENT MATERIALS	Chloride		0.80	338.40
162.50	CEMENT SERVICE	Cubic Feet Charge		2.48	403.00
133.37	CEMENT SERVICE	Ton Mileage Charge		2.60	346.76
1.00	CEMENT SERVICE	Surface	1 all	1,512.25	1,512.25
18.00	CEMENT SERVICE	Pump Truck Mileage	Sulad	7.70	138.60
1.00	CEMENT SERVICE	Swedge Manifold Rental	>° ' <i>'''</i>	100.00	100.00
18.00	CEMENT SERVICE	Light Vehicle Mileage	-	4.40	79.20
1.00	CEMENT SUPERVISOR	Tim Dickson			
1.00	EQUIPMENT OPERATOR	Kevin Eddy	.11		
1.00	OPERATOR ASSISTANT	Kevin Weighous	23-14		
			, 3, 4		
			00		
			pd 3-22-14 4481		
			•		
		Subtotal		1	5 673 /1

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

851.01

ONLY IF PAID ON OR BEFORE

Apr 9, 2014

Subtotal	5,673.41
Sales Tax	221.19
Total Invoice Amount	5,894.60
Payment/Credit Applied	
TOTAL	5,894.60

ALLIED OIL & GAS SERVICES, LLC 062858 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BO SOUTH		, EXAS 76	092	SERVICE POINT:					
						Mostil	tour Ks		
DATE 3-15-14	SEC.	TWP.	RANGE 10	CALLED OUT	ON LOCATION	JOB START	JOB FINISH 300 PM .		
LEASE	WELL#	<u> </u>	LOCATION EVI	س. نصم کا تا در ا	T 13/100	COUNTY	STATE		
OLD OR NEW (Cit	rcle one)			into	1 7 1000) Jack	1 12		
						ا			
CONTRACTOR S	Ky Tog	Belog	E	OWNER	Same				
TYPE OF JOB S)	_					
HOLE SIZE しょん CASING SIZE そ		T.E		CEMENT					
TUBING SIZE &-	78		PTH A17	_ AMOUNT OR	DERED 150-	Chau !	<u>r 350ec</u>		
DRILL PIPE			PTH PTH	Let of					
TOOL			PTH						
PRES. MAX			NIMUM	COMMON	150	01750	2.685.0°		
MEAS. LINE			OE JOINT	POZMIX	700	_@ <u>13.70</u> @	2.4600.		
CEMENT LEFT IN	CSG. IS			GEL	マ		70-20		
PERFS.				CHLORIDE	723	- ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	338.80		
DISPLACEMENT	1454	bly		ASC			2000-		
		IPMENT							
						_			
PUMPTRUCK (CEMENT	FD	0.0	•					
	HELPER	<u>ال</u> ال	~ 1243						
BULK TRUCK	JULI LIK		in road	-		_@			
	DRIVER	Jhr	المحالم بعادة م						
BULK TRUCK			- waynear	•		@			
# I	DRIVER					-@ 			
				HANDLING_			403.00		
	DE	MADIZC.		MILEAGE 7	- X 1 0 X	2.60	346.78		
0 222'		MARKS:	a *			TOTAL	3.843.3°		
	85/8		rele Circulation						
Ringed I Will			a) 150 rha	-	SERVI	CE			
1824 35 H20		BAN.	1) suplant		2501				
			7 -	DEPTH OF JO	B 277				
	A Trice	<u> </u>	exculate.	PUMPTRUCE		1512.	25		
				EXTRA FOOT					
***************************************				MILEAGE		@ <u>7-70</u>	138.60		
					Surdbe				
					<u>~ 18</u>		79.20		
CHARGE TO: C.		10 - ده جمع				_@			
CHARGE TO: L	m	EXX	melies	•			. 5/20 9		
STREET						TOTAL	1.830- D		
CITY	cm	ATT	z.n	•					
CITI	ST	AIE	ZIP		PLUG & FLOAT	T EQUIPMEN	ıT		
	~~~		tank				•		
			1001-1-1						
					<del></del>		-		
To Alliad Oil 9-7	300 Ca	000 TT C				@ @			
To: Allied Oil & (				*	***************************************				
			nenting equipment						
and furnish cemer						_ ~			
			he above work was			TOTAT			
			of owner agent or			TOTAL			
			and the "GENERAL	SALES TAX	If Any)				
I EKIMS AND CO	סדוטאי	INS IIste	d on the reverse side.			2 43			
١	171			TOTAL CHAR	GES つ・で 【	<del>? / / _</del>			
PRINTED NAME	11	loura	s) Ingel	DISCOUNT _	82	1. 21 mm	D IN 30 DAYS		
	A	1	T T				D IN 30 DAIS		
SIGNATURE		hore 1	1 /	_	4 82	2. YL			
SIGNALUKE X	1/1		Charles		1.07				